
CLIMATE DECLARATION  FOR 

ECHOPANEL®  & MURA™

DECLARED UNIT: 1M2 OF PRODUCT

The climate declaration shows the emissions of greenhouse gases, expressed as CO
2
-equivalents. It is based on verified 

results from a life-cycle assessment (LCA) performed as a basis for an EPD, in accordance with ISO 14025 and EN 15804.

PRODUCT

This climate declaration covers colour and print designs from the EchoPanel® and Mura™ product range by Woven Image.

Environmentally preferable products and sustainability are at the core of Woven Image’s company values and, because of 
Woven Image’s commitment, they became pioneers in the design of high-performance textiles, wallcoverings and acoustic 
solutions using recycled and environmentally preferable materials.

OTHER ENVIRONMENTAL INFORMATION

This declaration is limited to one impact category. For information about other relevant environmental impacts, see the EPD 
available at www.epd-australasia.com.

CLIMATE DECLARATION

Global Warming Potential (GWP) as kgCO
2 
eq

Product stage:  
raw material, transport  

& manufacture

End-of-life stage: 
transport

End-of-life stage:  
final disposal

Mura™ Otto wallcovering 1.59E+00 4.47E-03 7.03E-03

Mura™ Otto wallcovering non-printed 1.26E+00 4.47E-03 7.03E-03

7mm EchoPanel® Hex 5.17E+00 1.79E-02 2.81E-02

7mm EchoPanel® non-printed 5.02E+00 1.79E-02 2.81E-02

12mm EchoPanel® Tilt 8.69E+00 3.07E-02 4.82E-02

12mm EchoPanel® Puzzle printed one side 8.69E+00 3.07E-02 4.82E-02

12mm EchoPanel® non-printed 8.50E+00 3.07E-02 4.82E-02

24mm EchoPanel® non-printed 1.06E+01 3.83E-02 6.03E-02

MANDATORY STATEMENTS

Exclusion of small amounts follow the rules of product Category Rules of Construction Materials, and include the 
infrastructure, construction, production equipment and tools that are not directly consumed in the production process; and 
personnel related impacts. These are deemed negligible. No cut offs were necessary for the modules included in this EPD. 
The scenarios included are currently in use and are representative for one of the most likely scenario alternatives.

The Australasian EPD Programme Registration no: S-P-01162 Validity: 24/09/2018 - 24/09/2023
 
PCR for construction products and construction services CPC 54, Version 2.2 2017-05-30
Independently verified by: Jane Anderson, Construction LCA Ltd.
Climate declarations from different programmes may not be comparable.  
Note: this single-issue EPD only addresses one impact category and does not assess other potential social, economic and environmental impacts 
arising from the provision of this product. These aspects may be of equal or greater importance than the impact category displayed.

wovenimage.com enquiries@wovenimage.com

http://www.epd-australasia.com

